AEHEA L 11492H6H

BREEDREEEETHME

mwl & | mx | e |% zgfmﬁ ot TS
Tl @| e B FOE TS
] @ 91 |rEamE HHEY OV AR
T @ R Wit TOH AR
| @ 380 i B BOX TSRS
| @ 60 g B O TSRS
| @ 601 |(BLAZFE Bl 0% TSRS
| @ 083 |iE s Bl BO% TSRS
| @ 137 mEamE Sl BOH TSRS
| @ 1568 | HES BO= TSRS
| @ 1736 |{Bitcs ELE AR =0 TR SY
| @ 7169 |1rEE RS E O FAETTRS
| @ 3412 |WE A Bl BOE TSRS
| @ 4004 |5E EE LS 208 TSRS
A @ 34850 1B RS SO0 TSRS
Al @ 34367 1B WEY BO% TSRS
Al @ 34367 1B HELY HORE TSRS
Al @ 35791 1B “E B FO¥ SRS
Al @ 35791 B fE “E B HEOR, AR
Al @ 36200 |k &0 Ot AR
Al @ 36450 |k (5 HES 5O AR
Al @ 364590 |k (o HES BOE AR
Al @ 36873 1B %0 EO% AR
Al @ 38350 _|iB ESR #02% AR
Al @ 019 |B%fE e FOH AR
Al @ 019 %% B O AR
Al @ 1302 B%kfE B HOE AR
Al @ 1317 |k AR POm AR
Al @ 1317 |k SRR HOL AR
Al @ 1901 |B%E Sl HOR AR
Al @ 017 BEEE B EOL AR
Al @ 09 |BEEE B OB AR
H | 114 8 2036 U’ﬂ%ﬁ Bl BROZE R REFFEE 77
Al @ A BEEE Bhl5 M O% AR
Bl @ | 20 s B D THITHANH. ot g s
Al & 01 BEE #0 HEOR, AR
Al @ 3161 |k A ORI 3515 L
Al @ 3167 |4 B HOMS EETE
Al @ 0B s B TO8 B S R
Al @ 3850 |iBEE HESS =O% FAETE S
> | @ 36404 | B KOS5 A S LR
w | @ 17305 |zEiics BRI EOM 7 - TS
e 3] @ 28177 [3EHK EEER PO FAETE ST
e | a0 [ CRAE O BT
S | 114 = 1161  |FFiE Bl 2O# HESF

e [1a| e BT #0% ey

B | 112 = 31018 |[fA#E S E %0 TO% HESF
el @ 38307 | B S PR FO8 TSRS
el @ 38307 |WiE B S HE EOH RAETE
el @ 38307 |WiE B S HEY EOR RAETTE
el @ 38307 B FE O AL
el @ 38307 |WiE B S FE BOF AL
Bl @ 591 |2k EHES HOE) RAETE
B | 113 1= 12731 |EEEREE MES E =O% HESF
Bl @ 30210 [3EHcEE EHAR Ok BT
Bl @ 33210 [3EHcEE TeE O BT
o] @ 461 [3FHE Bt HO% AT
ol @ 1758 |EEmcs NS BO% AR
E | 114 = 2775 |EEHR BLLE BOE NS




B | 114 = 2775 |FEHK By BOF RREFTE
| 113 P 2038 | Faml g By RO FREFTE 5
& | 113 P 2854 | Bl {ER EHEE FFOE FREFTE
| 113 B 3516 | Bl gl EHEE EOH B R
| 114 = 710 | EAE EHEE H#HO FREFTE 5
| 114 = 785  |FEHK By E MO FREFTE
A | 114 18 852 |EEHk By E O THEFFE ST
| 114 = 2463 |FEHREE HigEST #OJk LSR5y
| 114 P 12 |SESLRa L] S #HOE A
| 114 i 36 |l R HESE FOE LSR5y
| 114 i 39 |l R WES EOH A
% | 114 HE 17 | B anbahl R %0 SO BIEH SR AL IR 5
k| 113 = 22026 | EEhA A INESF HOE G A
7§ | 113 = 39018 |FEHREE ey BOH BT
75 | 114 = 622 |FEHRE BEIZ S BEOF BT

75 | 114 = 759 |FEHREE o EE @)= BT

75 | 114 = 2750  |EEHREE 5152 Sali BOH BT

75 | 114 = 3420 |EEHREE 5152 Sai BOH BT

75 | 114 = 4605 |FEEKE By E BOH BT
114 = 3552 |ZBERIIBGA —E—F BOZ% #EST

5 | 113 = 33596 |FEiREE Y] MHOEE #EF

5 | 113 = 35956 |EEHKEE ZHEor MHOEE #ET

5 | 113 15 38650 |MEEENHEA ZEEek 20O A S IR
5 | 113 AE 543 [HBABGE = mBELLERT E1@)53 #EF

5 | 114 15 1553 |EEEE ZHEor MHOEE #ET

5 | 114 15 1581 |FEEKEE Y =0E #EF

5 | 114 15 2084 |{BiErE %0 BO% THEFFR ST
% | 114 15 3075 |FEHK —ECF BEO#% A S IR
% | 114 15 3269 |FEHK WES HOE A S IR
% | 114 15 3519 |FEHK B E FORk THEFFR ST
% | 114 15 3544 |FEHK ek-paNm) EO&E TSR ST
% | 112 15 20001 |4ERERE ZHEor e O THEFFR ST
112 15 24732 | FRHEMERS allba)m) BOH THEFFR ST
112 = 26206 |WiERMESE 25y E A O R REFFEE 77
% | 112 = 26970 |{BiEsrE BOZ O THEFFE ST
2 | 113 = 7319 |#HEMESE =“R—5 A O R REFFEE 57
£ | 113 = 9838 |UHERNEE —“R—F O THEFFE ST
2| 113 = 19641 |FEERE WES BEOR THEFFE ST
2| 113 15 26529 | BRI e E % FOL #EF

2| 113 15 26529 | B R EMEL] e g T B OB #EF

2| 113 15 26529 | B R EMEL] e g T B [EI®): #EF

2| 113 = 29430 |¥EHK By ROZE THEFFE ST
£ | 113 = 29430 |FEHK By BOXE AEEFTTER
2| 113 48 1857 |EFEK HIsESY & FOE THEFFE ST
2| 113 FE 432 |EEHEK = AT EAT O THEFFE ST
2| 113 FE 435 |FEHK S RIEERT MO THAEFTRR 5
2 113 15 34267 | AHEEE WESE B OF A S IR
2 | 113 848 1628 |FEEK BN FEORE BT 5
2 | 113 A 360 | FmliE g ZES FO8 BB 5
2 | 113 A 1467 | T B S] WESE PO BT 5
2 113 A 2784 | FEAL IR ZHor 2O% THAESTRR
2 | 113 A 2901 | FEAhb R %0 ¥ Ot SEHLETR Sy
2 | 113 A 3091 | AFGEEE WESE B OF A S IR
2 | 113 A 3266 |l {E G “E—F ¥ OM SERLETR Sy
2 | 114 18 1174 |$%EEia1 NS OB THAESTRR
2 | 114 = 1190  |EHK 5 HOH FHEFFR ST
2 | 114 18 3640  |FEHK WESE 2104 THAEFTRR 5
2 | 114 18 4061 | AFEE “E—F O #EF

2 | 114 18 4891 | FEamB IS %O O A AR
2 | 114 | FHEsE 23 |l LY EOE HEST

| 113 HH 1213 | SEanbh iG] B Y BEO#E HREFTHE 5
| 114 e 10 |#iEEH %0 MO FIEH BT R
E | 113 = 33347 |FER “E—F = O HREFTHE 5




i | 113 = 33363 |FEE INESE EAOIE B R
i | 113 18 33384 |FEK “RTH JLO% HAEETEE 7y
i | 113 18 33393 |#hEE —“RETE HOoOZ THAEETRE 7y
i | 113 = 33402 |[{GE INESE SO LR Sy
i | 113 = 33402 |[{GE INESE BO LSR5y
B | 113 = 24554 |iBKAGE WESE FOE LSR5y
B 113 = 29177 |SBaEiRiRs By Ok LR Sy
A | 113 2| 3311 [k R O AT T
B | 113 =] 37873 | AILfEIRE Ry 5 FO4 TR Y
| 113 15 37873 | AHEEE B4y HHOFE P AEETREE 77
B | 114 = 909 Bk GE ZHEE O LSR5y
B | 114 = 1307 [#EGE HESE FOZE LSR5y
B | 114 = 1319 [i#%EE INESF BEOF LSR5y
B | 114 = 4387 |BEGE §EOIE =0k LSR5y
B | 114 = 4390 [iEEEE FHHOE BOZ LSR5y
B | 114 = 4911 [BEEE 85T HO% LSR5y
B | 114 4R 148 | AFEEHE WESE ZORE #EST

| 113 = 35455 |MREENAHLESE INESF BOZ R S R
B 114 | RFEE 9 | FEBHHIEE] = R AR i@ LSR5y
3| 113 = 25577 |FE By E HO% #EST

3| 113 = 34490 |FEE By E O% #EF




